(a) 40 _ (b)70 ,
T [ Reference reanalysis [ Reference reanalysis
I Reanalysis with no temperature observation . —— [ Reanalysis with no temperature observation
_ - T § 60
5 20 5 T T _
- EU 50
2 >
O %
3 )
© ©
I 0 340
8_ 7))
C
©
= O 30-
O &
g
3 - £ 20
= - 2
1 0]
©
L =
_40 S 10
—= n
JR 1 1 O — - - JR -1 R
1980 1990 2000 2010 1980 1990 2000 2010
Decade Decade
C : -
(€) 160 [ Reference reanalysis
[ Reanalysis with no temperature observation
140
120

=
o
o

60

Mean snow depth (cm)
(0 0]
o

40 1

1980 1990 2000 2010
Decade

20




